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Length -4

b)

b)

1. Long distances are measured in centimeters. Mark True / False.
a) True

2.8 km 40 m is equal to meters.

a) 840

c) 8040

3. Very short lengths are measured in

a) mm

c) m

4. 605 mm = cm
a) 6.05

c) 60.5

5.872m= cm
a) 872

c) 8720

6.56m = mm
a) 5600

c) 506

7. How many meters are there in 9 km?

a) 9000 m
c) 90 m
8.575m+1275m+ 250 m = km

a) 2400 km

c) 24 km

9. Add 271 km 45 m with 49 km 870 m
a) 320km 915 m

c) 302 km915m
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False

8400

None of these

cm

km

65

None of these

87200

None of these

560

56000

900 m

None of these

2.4 km

None of these

329 km 15 m

None of these
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10. Ram is living 35 km 575 m away from his college. Every day he walks 2 km 64 m to the nearest
railway station and travel 22 km in train. Rest distance he covered by bus. How much distance did he

cover by bus?
a) 11km 611 m b) 11km 711 m

c) 11 km 511 m d) None of these
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